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Reactance relay is:

(A} Voltage restrained directional relay,
(B)  Directional restrained overcurrent relay
(C)  Directional restrained overvoltage relay
(D) Voltage restrained overcurrent relay
() Question not attempted

witara i R

(A) e wafia () faamers fat

B) e gafy (@¥e)siaEe fid
(©)  Tewmers wafyg (ate)siamiees frod
(D) Fes g (e eiiaiz it

(E)  igafa wy

Which type of C.T. is used for protection of
Star-Delta transformer?

(A) Delta-Star. (B) Star-Star

(C) Delta-Delta (D)  Star-Delta

(E) Quesuon not attempted

FT-Se ZIEETH T grar % fou fmw
121, 1 SN e ST 20

(A) SRR (B) WR-RR

(C) e (D) WS«

(E) afa v

Frame leakage protection is used for the protection
of:

(A) Transformer

(B)  Transmission linec
(C)  Synchronous generator,
(D) Bus bar

(E)  Question not attempted

SEH fiehel ICHS &1 3TANT e 3 Geaw & foau
o Srar 2:

(A) ZEHE

(B) Ziafwe g
(C) s s
(D) TR

(E) SIfaiaud

The glory of which folk deity is told through a
scroll called “Phad” ?

(A) Tejaji (B) Ramdeviji
(C) Gogaji (D)  Pabuji
(E)  Question not attempted

g mw%wﬁmmmaﬁ
far sard T 27

(A) dsITsit (B) tm%.a@ﬁ
(C) TSt (D) T,

(E) qafid 94
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Which one of the follOWing B
handicraft work from Rajasthan 24
Choose the Most appropriate ontire o

(A) Blue Gilazed Pottery

(B) Thewa Gold Leaf Work
(C) Dolls of Krishnanaga,-
(D) Bhandhani

(E)  Question not attempted
Fff 8 % T
ﬁﬂﬁﬁmmﬁmﬁ
(n) e el ot e
(B) T TieE i

(C)  FEETH i

Dy A

(E) 3Aaia 94

Historical tradition
divided into four ‘Period’
Period represe% di
rise of new genre.

Veergatha Perid%ig‘idﬁ

cl
d.

Choose the most app

ﬁﬁﬁ%ﬁ'@gﬁ S

(A) cd ol
© d,abc .
(E)  Question not at
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In a system, the damping cocfficient is €~
The system response is -
Oscillation with increasing magnitudc-

(A)

(B) Undamped

(C) Underdamped

(D) Critically damped

(E)  Question not attempted

s g §, SFaHE T & = -1 21 feprewwfafsam
3
(A)
(B)
(&)
(D)
(E)

Ted TR & T AT
sqaHfed T8

& Jamfed
it ® § T
A 94

Following table indicates the sign of elements in
first column of Routh array.
Row No. | 1 2 3

H|HD ]S

b Tl
)| ()

Sign

Choose the correct statement:

(A) The system has two poles in right half and
three pole in left half s-plane.

(B) The system has t\w poles in right half
s-plane.” by

(C) The system has two poles in left half
s-plane.

(D) The system has three poles in right half
s-plane.

(E)  Question not attempted

ﬁwaﬁwwwﬁ(mﬁ%wﬁmﬂﬁaa‘r

¥ forg @1 guIidt 2l

e HHE 1 ) 3 4 5
fa= o) ()1 (G)

e YA T
(A) m%mmfra\‘waﬂtmm&s.@q

(B)
©)
(D)
(E)

fyee & aTd 3T sﬁqﬂﬁa—q'%l
ﬁm%mm&wffmﬂa’%‘

Ffd A

T
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The transfer function of a system is given

ﬁ;{?ﬁﬁmﬂgﬁﬁmﬁﬁwmﬁm
G(s)=

,_______——
s+ l)(S +4s+5)
The steady-state value of step response w
T 1 fEort-3parE A &
(R)9 (B) 4/5¢
(C) Vi5l4s (D) 4 i
(E) Question not attempted / 3[1'\1?(3‘

Where do women wear ¢ Kardhani’ ?
(A) Onthe head )
(B) Around the neck
(C) Around the waist
(D) In the ears ;
(E) Question not att mpted
nfeet HTEAT T TEAdl €2

(a) farm (B) TAH
() FACH: (D) FEH
(E) i o4

Which of the followmg world H '
from Rajasthan? b
Humayun’s To

(A)

(B) Gagron Fort

(C) Dholavira City

(D) Sun Temple

(E)

fafafad ﬁﬁiﬁ'—rm

(A)

(B)

(©)

(D)

(E)

Which temple is dedicated !
described as shining like red
35 kms away from a town in t
(A) Ganga mandir &9
(B) Rani Bhanyamﬂmple
(C) Temples of Kiradu
(D) Ramgarh Bhand Devra
(E)  Question not attempted
HIaE

qTE IHhAT AT ST T

T & 35 fpardfier T i

(A) TR gk
(B) T afm A
© frEwER
(D) TG WS dat His

(E) i w4 :
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which great hero’s t‘l\alrztclé;::s be

ese lines, “Pag Pag i
~hhod rakhyo dhg
Rasya Hind re *“?
(A) Pathan Behlol Khan
(B) Maharana Uday Singh
(C) Man Singh
(D) Maharana Pratap
(E) Question not attempted

o 9 WHT e, Wiﬁgr@ﬁmlmm
et T R S et B o e o

(A) WW@T
(B) HERIN 3&F fiw
(C) wHfEE

(D) H&IYT Jd19.
(E) iy

Which of the following fort was built by traders
Bhainsa Shah and Roda Charan to protect their
Carvan from the mountain bandits in Chittorgarh?
Choose the most-appropriate answer from the
options given below.

(A) Jaigarh Fort

(B) Bhainsrorgarh Fort
(C)  Chittor Fort

(D) Churu Fort

(E)  Question not attem

ST ¥ ST FHRET I & b o ATttt Sar

T8 37T USTALOT AT ST 73T 41?
ﬁmmﬁm}ﬁﬁm%mgﬁl
(A) G fohedl '

(B) dotrg fahe.

(C) faxirs fohar

(D) =& fopetr

(E) Agafta g4
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W
hich fort has been mentioned in the inscriptions
as ‘' Suvamagiri‘?

(A)  Jaigarh Fort (B) Jalore Fort
(C)  Jaisalmer Fort (D) Gagron Fort
(E)

Question not attempted
Frctreret 4 fives et a7 gt ganifirfe 7 &
o a2

(A) SaRfeer  (B) e e
(C) Sgewfear. (D) e
(E)  srf v

Given below are two statements:

Statement I: In case of 3-phase Induction motor,
Stator and rotor fields are stationary with respect
to each other at all possible rotor speeds.
Statement II: Maximum torque is proportional
to the supply voltage in case of 3 phase induction
motors.

In the light of the above statements, choose the
correct answer from the options given below

(A)

Statement I is false but statement IT is true

(B) Both Statement I and Statement I are true -
(C) Both Statement I and Statement I1 are false

(D) Statement I is true and Statement 11 is false

(E) Question not attempted

= < e feg e .

YU Iz 3- ISFH WIS o Al §, T2 A
& aft g et i o2 O e 3 Ha § fn
AR

HAF I1: 3 HT $SHFIH HI & AT H HARAHaw 31

(e Ao & FHAT BT 21

I FHYA H AT 8, A fow e fyswedt ¥ @
e I

(A) YT A & AfhT Y 11 7 2

(B) U1 HYT [ A T &

(C) A1 3N HYT [ A 3HAT &

(D) o | O & ST 1L 370 &

(E) rgafia wa
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1
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1
.
(sa)(st b)

ted / IG5

D)

|
© Ta6D

(E) Question not attemp

How many Indian states share their border with

Rajzmthan?

mmmmﬁtwmmm

B) 1
D)ot
Question not attempted / H@Hﬂ'ﬁ el

Aravalli ranges, 2 well known feature Of

Rajasthan, runs ina . direction.
s

Rt

Choose the most appropriate answer from the

vl

options given below.
(A)
(B)
(©
(D)
(E)  Question not attempted

S T, TS o O S famra 2
= foar i e 2

oy for e ferepedt @ el 3T I

(A)  afeorad & -t

(B) FALIAHAH m-q,;é_ :

South-East to South-West
North-West to North-East
South-West to South-East

North-East to Southf}h/est

(E)

B129/E1] 9/
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The

(Kachchh) and, the _‘2&___.
Gulf of Khambhat 035 :
i N way to
Arabian sea. i

Choose the most aj

options given below: «

(A)
(B)
(©)
(D)
(E)

Latitudinal po:
Distance from
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river falls into

3

Luni and Mahi
Banas and Chambal
Jhakam and Ba@
Luni and Tapi
piy

Question not
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of the following is not a three tier | 47 ool

- Jiis
A power system is designed 10 oz

e i system institution i ' A
" :,‘V;‘.;‘l‘» L{J::“{ics tution in Rajasthan? The corona loss in this system 13 05 K :h ” o
. Gram panchayat km. Now, this system is Oper ating ° . of
o panchayat Samities frequency. What will be the ne™ orons
(), 7ila Parishads 60 Hz? ; Pa—
( Question not attempted U grar fgEes S0Hz e % 0 feae p—
Ju‘iﬁﬁﬁaﬁ g TereaH o R dt wen Bt 3| 3q fgeen & FroAT 19 0.5 kKW ph'N;” et
«rﬂﬂﬁimm:‘%ﬁ%q 2 Rrez 60 Hz shrerrell gt i T ¢ N 6O
) e EfeeEt T YT i A
p) T =TI (A) 0.416 kW/phase/km,
©) e Eft (B) 0.5 kW/phase/km
) e R (©)  0.566 kW/phase/km
€ NG (D) 0.60 kW/phase/km
(E) Question not attempted / Wﬁz T

o 74 Constitutional Amendment empowered
be n Local Bodies (ULBs) to perform how hain reaction 1 R
many functions listed in the 12" schedule? A - = o e O
-ﬁgﬁmwﬁm%sﬁﬁwﬁaﬁm@wm)ﬁ
| oeft it # gt foha sl F T AT

44

by introducing
(A) BrassRods  (B) Steel Rods
(C) Cadmium Rods (D) Iron Rods

feam?

(A) LS (B) .25 (E) Question.not attempted ‘ 5

(©)i 2% (D) 18 q\mﬂ@aﬁ,g@mmﬁr&maﬁﬁaﬁﬁm
fiqu ey <fist Sreft STt &

(E) Question not attempted / TTARE T2 -
(A) daaHzS (B e H IS

© FfEmHsE (D) ICE =

45  The Lokayukta is appointe;d Y -

(A) The Leader of Opposit (E) oaid o
(B) The Chief Minister &=
©) G}(:_vefr;lor' ff: G N 49 In LVDT, as the core is moved in one direction
), 1 C_ ief Justice of the State High Court form the null position, the difference of two
(E)  Question not attempted :
mﬁﬁwﬁﬁﬁnﬁmm Frodr 2 i

e (A) Increase and 1807 out of phase with source

voltage «

(B) Decrease and in-phase with source voltage

(C) Increase and in-phase with source voltage

(D) Decrease and 180° out of phase with
source voltage

46 When a line to ground faul-»t:occurs, the current in (E)  Question not attempted
a faulted phase is 100 A. The zero scquence LVDT &, 3 @ &l g fufd § ww R A &
(c/u\rrent in this case will be - AT ST R, 3 i diees &1 W
) 100A. ®),  Zero (A) BIq AT WY T AN 180° & F&

©) 333& (D)
(E)  Question not attemp!

A1 § WSS B aial é? Fieee Bl H i

66.6 A o
(B) Y ANeds & WM HT SRS |
(C) A e F WY T AR HS | €W

1()()Am%|mmﬁwwwm
(A) 100 A (B). QL;T (D) A Qe I HAT IR 180° B | AR
©) 3334 (D)M,“ 166.6 A am
o & S A o (E)  orafaws
YER % 3 [ Contd...
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An clectric circuit with 11 branches and 8 nodes
will have

(A)
(B)
©)
(D)
(E)  Question not attempted

11 STErsd R 8 Agw A faga ofoy J

10 loop equation
4 loop equation
3 loop equation

7 loop equation.

&mm
(A) 10T adiFEr (B) 4 9 @i
(©) 3TUEHFT (D) 7 W WHFT
(E) ¥Iaia vy

In the given lattice network, find the value of ‘R’

for the maximum power transfer to the load :

fau e Sredt (@few) Jeas #, wre i sifaan wid

FEATAT % foIT R &7 9 I L -
70
A
6Q
5Q
AN
90
A) 9Q
(©) 65Q- D) 8Q
(E)

Question not attemptgd / A 5

In 15" century, Paliwal Brahmms of Jaisalmer

used technical knowledge to construct water

(A) Beri (B) :Khadin
(C) Jhalar (D) Tanka
(E)  Question not attempted

| 5 FTTedt & AT 3 FTeaTe SR 4 aHiht
mwa@ﬂmaﬁ%ﬂ#ﬁmﬁmﬁuﬁ%m
R A
(A) o

(C©) =

(E) SHid ¥4
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Which of the following Nationaf p
through the Rajasthan?
(A) National Highway No. 4
(B) National Highway No. 315
(C) National nghWango 11
(D) National nghwa, No.2
(E)  Question not attempted
Frerfetfiaa & @ #1 ar Ty
(A) U TSI HET 4.
(B) T TSI §EA 315
(C) T T
(D) T T
() Fafdwd s"i}
&
Udaipur is mainly known
establishment of: d
(A) Zinc Smelter (B) C
(C)  Granite

Vi (s)

Yo(8)
1,(s)
V()
Vi)
v, (5)
v
Vo(s)
v

(A)

(B)

(©)

(D)
(E)
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(E) Question not attempted /
85 According the provnsmns of the

puman Rights (Amandment)

State Human Rights Commlsmon

(A) A Cha:rperson and two |

B) A Chairperson
() Chairpersoﬁ n
(D) Chalrperson
(E) Question pot aff% ‘
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Who was the founder of the Parmar Dynasty of
Abu?

(A)  Ajayraj (B) Utpalraj

(C)  Dhumraj (D) Mulraj

(E)  Question not attempted

3T & AT S 3T FETT I AT

(A) TS (B) U
(C) YHUS (D) HUS,
(E) Agaiawy

Ashokan Bhabhru inscription, found in

is considered to be the most authentic document
attesting Ashoka being a Buddhist.

Choose the most appropriate answer from the

options given below.

(A) Tilwara (B) Balathal
(C) Bairath (D) Baror
(E)  Question not attempted
I &1 N e A F RN SIS I NIED
F g a’ﬁr ST G YTHTIOTE awésf HIET STt 2
e faw w7 foreedt # & wed 3Uh AT |
(A) feremamst (B) SIS
(C) SU3» (D) ¥R
(E) 3aid 9%
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The founder of the Chauhan Dynasty of the

Ranthambhore is

Choose the most appropriate answer from the
options given below.

(A)  Vigrahraj IV~ (B)
(©)  Ajayraj (D)
(E)  Question not attempted

TR F NEF S FEs
19 o farae & wart epes swe
(A) foremssgd (B)  swifw

(C) AU (D) mifdeus,

(E) aRaws

Arnoraj

Govindraj

&

Who among the following founded Mewar State
Prajamandal? (Choose the most appropriate
option from below)

(A) Madan Lal Dhingra

(B)  Vasudev Balwant

(C) Manikya Lal Verma

(D)  Vasudeo Hari Chapekar

(E)  Question not attemg”bj
Frfafad & & fars Uo7 SeTHee 1 ETeT R
12 (e & & wa v fawer )

(A) wEAAEm

(B) dMHed SEd

(C)  wrfurer Sret 4.

(D) ATHRE &R =T

(E) Igafdwa

Which of the following not joined Greater
Rajasthan in fourth stage (on 30-March-1949)?

(A) Alwar (B) Bikaner

(C) Jaisalmer (D) Jodhpur

(E)  Question not attempted

forferfiad & & 1 <2 =07 (30 7T 1949) H &2
(A) A, (B) T

(©) SEer (D) SE

(E) Zafta g4 |

B129/E1] 9,
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Who among the following was the first +
who was arrested during freedom mey
Rajasthan? (Choose the most appropriate
from below)
(A) Janki Devi Bajaj
(B)
(&)
(D)

(E) :
frfafiaa & @ TEIE # HE H 9y

o2 AT SR % A R f
(Pt 3 & @ 39 farehed )
(A) T S EST

(B)  3istT adt =radt

(C) IctaTs
(D) fort &t
(E) &A@ w4

Anjana Devi Chaudhary,
Kaalibai
Kishori Devi

Question not attefnpted

Rice is grown in whic

Rajasthan? (Choose the most app

W
B

from the options given below)

(A) Jodhpur

(B) Jaisalmer ‘2«%

(C) Sriganganagar gﬁ

(D) Bikaner ffg A
(E)  Question not até’f&pted
T 3 e § 4
T &7 (1 fow e foedt
™

(A) St

(B) StEemt

(€)  #rmETR.

(D) s

(E)  qmifd v
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